B

R OTAGETI R (B — /R &%)
AL B LT AR S
T m /4 185,399,988 167,018,731 175,559,632 191,685,145 202,950,456
1L A ?%%Eﬁi m /IRf 59,131 55,865 61,660 64,645 64,826
A RO m /I
77 (%) %
R R m /4
TR m /IRf
A RO m /I
77 (%) %
FRHFEE m
R m /IRf
AR RO m /I
77 (%) %
FERRER m /4 185,399,988 167,018,731 175,559,632 191,685,145 202,950,456
A s TR m /IRf 59,131 55,865 61,660 64,645 64,826
o A SR ni /I
77 (%) %




HEAL ] (U ARt

7 XA 4 fi] [ L7 AR X A7 B X S i 450.8 ki
% I DB kit 65.8 65.8 65.8 65.8 65.8
o[BI — ik A I 114,226 115,593 116,251 116,913 117,580
Tif ey | AR e 64,051 64,012 63,992 63,969 63,945
E HAA=E = S pipee i O % 100.3 99.9 100.0 100.0 100.0
| it It P 42 fA 3 B R % 56.1 55.4 55.0 54.7 54.4
p— _ ‘ m 771,617 776,769 782,742 789,318 794,726
S AITAR L i OV % 100.1 100.7 100.8 100.8 100.7
T RCHT AT 44 AT B X B T A 450.8 ki
T | s ik Kt
il P e =
IX“ A I A A— 2 — R BRI |
Al S S TR S PVES %
BEIER m
17 XA 4 fi] 1L i A X AT B K Sk i 450.8 ki
% | X R ku 65.8 65.8 65.8 65.8 65.8
jf PG XIN —fl T 2% Il 114,226 115,593 116,251 116,913 117,580
E S IR A AA— S — AR FER U2 | {8 64,051 64,012 63,992 63,969 63,945
B e X a4 A B R % 56.1 55.4 55.0 54.7 54.4
HEER m 771,617 776,769 782,742 789,318 794,726




HEAL ] (U ARt

7 XA 4 ] (L7 o X AT B X I AR 51.3 ki
% I DB kit 41.5 41.5 41.5 41.5 41.5
o[BI — ik A I 65,971 66,989 67,880 68,782 69,697
Tif ey | AR e 26,468 26,395 26,322 26,249 26,176
E HAA=L = |seppiihe e Ovg % 99.7 99.7 99.7 99.7 99.7
| it It P 42 fA 3 B R % 40.1 39.4 38.8 38.2 37.6
p— _ ‘ m 496,727 500,891 503,984 507,437 510,914
S AITAR L i OV % 101.3 100.8 100.6 100.7 100.7
T RCHT AT 44 AT B X B T A 51.3 ki
T | s ik Kt
il P e =
IX“ A I A A— 2 — R BRI |
Al S S TR S PVES %
BEIER m
17 XA 4 [it] 1Ly e e X AT I A 51.3 ki
% | X R Kt 41.5 41.5 41.5 41.5 41.5
jf PG XIN —fl T 2% Il 65,971 66,989 67,880 68,782 69,697
E S IR A AA— S — AR FER U2 | {8 26,468 26,395 26,322 26,249 26,176
B e X a4 A B R % 40.1 39.4 38.8 38.2 37.6
HEER m 496,727 500,891 503,984 507,437 510,914




2%

HEAL ] (U ARt

T XHT AT 44 ] | L1 77 AR X A7 B X S i 160.4 ki
% b Xk ft 5.4 5.7 5.7 5.7 5.7
o | BERE PIN — At AT R I 7,680 7,758 7,816 7,873 7,931
?f sy | FEEREUS 2K 1 1,469 1,498 1,527 1,556 1,585
1§ HAA=L = |seppiihe e Ovg % 102.0 102.0 101.9 101.9 101.9
| it It P 42 fA 3 B R % 19.1 19.3 19.5 19.8 20.0
— m 68,226 68,682 69,153 69,627 70,104
S AITAR L i OV % 102.5 100.7 100.7 100.7 100.7
T RCHT AT 44 AT B X B T A 160.4 ki
T | s ik Kt
f [P R E
le BEARIX A 1 2 A— 2 — 4 R B | 1
fo | LS DI AR R %
BEIER m
X HETAT 44 ] L1 77 BRI AT B X3 i A 160.4 ki
% | X R ki 5.4 5.7 5.7 5.7 5.7
ﬁ HE AN — i Il 7,680 7,758 7,816 7,873 7,931
}E AR DX I8 N T A A— S — 4R R B f 1,469 1,498 1,527 1,556 1,585
B | PN A Ao B % 19.1 19.3 19.5 19.8 20.0
HEER m 68,226 68,682 69,153 69,627 70,104




HEAL ] (U ARt

7 XA 4 ] L1 7 e X A7 B X S i 127.4 i
% I DB kit 34.7 34.7 34.7 34.7 34.7
o[BI — ik A I 48,708 49,269 49,835 50,408 50,988
Tif ey | AR e 13,397 13,518 13,639 13,760 13,881
E HAA=E = S pipee i O % 100.9 100.9 100.9 100.9 100.9
| it It P 42 fA 3 B R % 927.5 27.4 97.4 27.3 97.2
p— m 317,515 319,636 321,788 324,949 327,176
S AITAR L i OV % 100.2 100.7 100.7 101.0 100.7
T RCHT AT 44 AT B X B T A 127.4 i
T | s ik Kt
il P e =
IX“ A I A A— 2 — R BRI |
Al S S TR S PVES %
BEIER m
i XHT R 4 ] 111 77 7 X AT B I FE 127.4 i
% | X R Kt 34.7 34.7 34.7 34.7 34.7
jf PG XIN —fl T 2% Il 48,708 49,269 49,835 50,408 50,988
E S IR A AA— S — AR FER U2 | {8 13,397 13,518 13,639 13,760 13,881
B e X a4 A B R % 27.5 27.4 97.4 97.3 97.2
HEER m 317,515 319,636 321,788 324,949 327,176




B2
e N G
FERA T AR
7 XA 4 [ (LT & 5T A7 B X S i 789.9 ki
% I DB kit 147 .4 147.7 147.7 147.7 147.7
o[BI — ik A I 236,585 239,609 241,782 243,976 246,196
?E ey | AR e 105,385 105,423 105,480 105,534 105,587
ig HAA=E = S pipee i O % 100.3 100.0 100.1 100.1 100.1
| it It P 42 fA 3 B R % 44.5 44.0 43.6 43.3 42.9
p— _ ‘ m 1,654,085 1,665,978 1,677,667 1,691,331 1,702,920
S AITAR L i OV % 100.6 100.7 100.7 100.8 100.7
T RCHT AT 44 AT B X B T A 789.9 ki
%EE'E T H N4 2%;2)&? é%ggi 2(%%%5 20224F 20234F i
% e DIk it
it | S DN — A AL Il
IX“ A I A A— 2 — R BRI |
Al S S TR S PVES %
BEIER m
17 XA 4 fi] | 11 A E AT B K Sk i 789.9 ki
% | X R Kt 147.4 147.7 147.7 147.7 147.7
ﬁ PG XIN —fl T 2% Il 236,585 239,609 241,782 243,976 246,196
EE S IR A AA— S — AR FER U2 | {8 105,385 105,423 105,480 105,534 105,587
B e X a4 A B R % 44.5 44.0 43.6 43.3 42.9
HEER m 1,654,085 1,665,978 1,677,667 1,691,331 1,702,920




B2
W e I
FEFA T AR St

T XHT AT 44 IREE T A7 B X S i 209.4 ki
% b Xk kit 6.8 6.8 6.8 6.8 6.8
o | BERE PIN — At AT R I 9,829 9,942 10,057 10,174 10,292
Tif sy | FEEREUS 2K 1 5,812 5,808 5,804 5,800 5,796
E HAA=L = |seppiihe e Ovg % 99.9 99.9 99.9 99.9 99.9
| it It P 42 fA 3 B R % 59.1 58.4 57.7 57.0 56.3

R _ ‘ m 162,947 162,942 162,942 162,942 162,942

S AITAR L i OV % 100.3 100.0 100.0 100.0 100.0

T RCHT AT 44 AT B X B T A 209.4 ki
%EE'E T H N4 2%;2)&? é%ggi 2(%%%5 20224F 20234F
T | s ik Kt
il P e =
le BEARIX A 1 2 A— 2 — 4 R B | 1
fo | LS DI AR R %

BEIER m

i XHT R 4 AREETH AT B I FE 209.4 ki
% | X R ki 6.8 6.8 6.8 6.8 6.8
jf HE AN — i Il 9,829 9,942 10,057 10,174 10,292
E AR DX I8 N T A A— S — 4R R B f 5,812 5,808 5,804 5,800 5,796
B | PN A Ao B % 59.1 58.4 57.7 57.0 56.3

HEER m 162,947 162,942 162,942 162,942 162,942




B2
e K F
FERA LT AR S
T XHT AT 44 EBFH A7 B X S i 103.6 ki
% b Xk kit 0.2 0.2 0.2 0.2 0.2
o | BERE PIN — At AT R Il 524 520 516 512 509
F% ey | AR (i 296 292 288 284 280
E HAA=L = |seppiihe e Ovg % 98.7 98.6 98.6 98.6 98.6
| it It P 42 fA 3 B R % 56.5 56.2 55.8 55.5 55.0
— _ ‘ m 5,664 5,667 5,667 5,667 5,667
S AITAR L i OV % 99.9 100.1 100.0 100.0 100.0
T RCHT AT 44 AT B X B T A 103.6 ki
T | s ik Kt
il ey, =
IX“ A I A A— 2 — R BRI |
fo | LS DI AR R %
BEIER m
IR E KB AT B X3 i A 103.6 ki
% | X R ki 0.2 0.2 0.2 0.2 0.2
P& 1t st — it s = 524 520 516 512 509
}§ A IR N T A A— 5 — 4 R R gk | A 296 292 288 284 280
B | PN A Ao B % 56.5 56.2 55.8 55.5 55.0
HEER m 5,664 5,667 5,667 5,667 5,667




HEAL ] (U ARt

7 XA 4 [ | Lo b XA E AT B FE 1,102.9 ki
% I DB kit 154.4 154.7 154.7 154.7 154.7
o[BI — ik A I 246,938 250,071 252,355 254,662 256,997
Tif Ha gy | E AR AL (6 111,493 111,523 111,572 111,618 111,663
E HAA=E = S pipee i O % 100.2 100.0 100.0 100.0 100.0
S b e A Al ) R % 45.2 44.6 44.2 43.8 43.4
p— m 1,822,696 1,834,587 1,846,276 1,859,940 1,871,529
S AITAR L i OV % 100.5 100.7 100.6 100.7 100.6
T RCHT AT 44 AT B X B T A 1,102.9 ki
T | s ik Kt
il P e =
IX“ A I A A— 2 — R BRI |
Al S S TR S PVES %
BEIER m
17 XA 4 fi] | L1 1 X5 F AT B K Sk i 1,102.9 ki
% | X R Kt 154.4 154.7 154.7 154.7 154.7
jf PG XIN —fl T 2% Il 246,938 250,071 252,355 254,662 256,997
E S IR A AA— S — AR FER U2 | {8 111,493 111,523 111,572 111,618 111,663
B e X a4 A B R % 45.2 44.6 44.2 43.8 43.4
HEER m 1,822,696 1,834,587 1,846,276 1,859,940 1,871,529




B2
e N G
FEFA T AR St

i KT A4 V=t Qi AT BRI T A 354.7 ki
% I DB kit 61.2 61.3 61.3 61.3 61.3
o | BERE PIN — At AT R I 73,311 74,251 75,199 76,159 77,131
Tif ey | AR e 30,285 30,257 30,233 30,209 30,185
x | FRAE [ mos | % 100.8 99.9 99.9 99.9 99.9
| it It P 42 fA 3 B R % 41.3 40.7 40.2 39.7 39.1

p— m 620,004 625,564 631,774 638,482 645,282

S AITAR L i OV % 100.5 100.9 101.0 101.1 101.1

T RCHT AT 44 AT B X B T A 354.7 ki
% e DIk it
it | S DN — A AL Il
IX“ A I A A— 2 — R BRI |
Al S S TR S PVES %

BEIER m

17 XA 4 =i AT B K Sk i 354.7 ki
% | X R Kt 61.2 61.3 61.3 61.3 61.3
jf PG XIN —fl T 2% Il 73,311 74,251 75,199 76,159 77,131
E S IR A AA— S — AR FER U2 | {8 30,285 30,257 30,233 30,209 30,185
B e X a4 A B R % 41.3 40.7 40.2 39.7 39.1

HEER m 620,004 625,564 631,774 638,482 645,282




HoFk
e K F
FERA LT AR S
T XHT AT 44 el A7 B X S i 212.0 ki
% I DB kit 0.1 0.1 0.1 0.1 0.1
o | BERE PIN — At AT R Il 238 237 238 239 240
F% ey | AR (i 107 106 105 104 103
E HAA=L = |seppiihe e Ovg % 99.1 99.1 99.1 99.0 99.0
| it It P 42 fA 3 B R % 45.0 44.7 44.1 43.5 42.9
— _ ‘ m 2,567 2,550 2,550 2,550 2,550
S AITAR L i OV % 101.1 99.3 100.0 100.0 100.0
T RCHT AT 44 AT B X B T A 212.0 ki
T | s ik Kt
il ey, =
IX“ A I A A— 2 — R BRI |
fo | LS DI AR R %
BEIER m
IR E it AT B X3 i A 212.0 ki
% | X R ki 0.1 0.1 0.1 0.1 0.1
P& 1t st — it s = 238 237 238 239 240
&% |BEGKENT A~ — R 107 106 105 104 103
B e X a4 A B R % 45.0 44.7 44.1 43.5 42.9
HEER m 2,567 2,550 2,550 2,550 2,550




HEAL ] (U ARt

7 XA 4 HREERR L BT A7 B X S i 7.6 ki
% b Xk ft 5.7 5.7 5.7 5.7 5.7
o | BERE PIN — At AT R I 3,259 3,317 3,379 3,441 3,505
Tif ey | AR (i 390 428 466 504 542
E HAA=L = |seppiihe e Ovg % 110.8 109.7 108.9 108.2 107.5
| it It P 42 fA 3 B R % 12.0 12.9 13.8 14.6 15.5
p— _ ‘ m 34,268 35,602 36,412 36,412 36,412
S AITAR L i OV % 110.4 103.9 102.3 100.0 100.0
T RCHT AT 44 AT B X B T A 7.6 ki
T | s ik Kt
il ey, =
le BEARIX A 1 2 A— 2 — 4 R B | 1
fo | LS DI AR R %
BEIER m
17 XA 4 HRFERR BT AT B K Sk i 7.6 ki
% | X R ki 5.7 5.7 5.7 5.7 5.7
ﬁf HE AN — i Il 3,259 3,317 3,379 3,441 3,505
&% |BEGKENT A~ — R 390 428 466 504 542
B | PN A Ao B % 12.0 12.9 13.8 14.6 15.5
HEER m 34,268 35,602 36,412 36,412 36,412




HEAL ] (U ARt

7 XA 4 BB EE AT B X I AR 574.3 ki
% b Xk kit 67.0 67.1 67.1 67.1 67.1
o | BERE PIN — At AT R I 76,808 77,805 78,816 79,839 80,876
Tif sy | FEEREUS 2K 1 30,782 30,791 30,804 30,817 30,830
E HAA=L = |seppiihe e Ovg % 101.0 100.0 100.0 100.0 100.0
| it It P 42 fA 3 B R % 40.1 39.6 39.1 38.6 38.1
p— m 656,839 663,716 670,736 677,444 684,244
S AITAR L i OV % 101.0 101.0 101.1 101.0 101.0
T RCHT AT 44 AT B X B T A 574.3 ki
T | s ik Kt
il P e =
le BEARIX A 1 2 A— 2 — 4 R B | 1
Al S S TR S PVES %
BEIER m
17 XA 4 BBHX A AT B K Sk i 574.3 ki
% | X R Kt 67.0 67.1 67.1 67.1 67.1
jf HE AN — i Il 76,808 77,805 78,816 79,839 80,876
E S IR A AA— S — AR FER U2 | {8 30,782 30,791 30,804 30,817 30,830
B | PN A Ao B % 40.1 39.6 39.1 38.6 38.1
HEER m 656,839 663,716 670,736 677,444 684,244




HEAL ] (U ARt

i X BT 44 fit] | LI T A5 F AT B X I AR 1,677.2 ki
% I DB kit 221.4 221.8 221.8 221.8 221.8
o[BI — ik A I 323,746 327,876 331,171 334,501 337,873
Tif Ha gy | E AR AL (6 142,275 142,314 142,376 142,435 142,493
E HAA=E = S pipee i O % 100.4 100.0 100.0 100.0 100.0
| it It P 42 fA 3 B R % 43.9 43.4 43.0 42.6 42.2
p— m 2,479,535 2,498,303 2,517,012 2,537,384 2,555,773
S AITAR L i OV % 100.7 100.8 100.7 100.8 100.7
T RCHT AT 44 AT B X B T A 1,677.2 ki
T | s ik Kt
il P e =
IX“ A I A A— 2 — R BRI |
Al S S TR S PVES %
BEIER m
17 XA 4 [i] (LI A& 5 AT B K Sk i 1,677.2 ki
% | X R Kt 221.4 221.8 221.8 221.8 221.8
jf PG XIN —fl T 2% Il 323,746 327,876 331,171 334,501 337,873
E S IR A AA— S — AR FER U2 | {8 142,275 142,314 142,376 142,435 142,493
B e X a4 A B R % 43.9 43.4 43.0 42.6 42.2
HEER m 2,479,535 2,498,303 2,517,012 2,537,384 2,555,773




AT
RS FH R i 51 1
FEHA AR

[ 774 ]
20194EE | 20204FEFE | 20214F% - -
G| Gegin) | () | 20221 | 2023
= IMPall I
. HoE IMPazAii 1,641 3,371 935 805 355
2 0.1MPall k- ’ ’
i’ E 0. 1MPaJit 46,053 21,685 22,660 24,273 23,335
i = E IMPall I
g -
. IMPaFii
e . o 0.1MPabl - 1,140 649 234 54 54
A i’ E 0. 1MPaJit 18,746 5,639 4,652 4,652 5,247
R i & E IMPall
;1); IMPazid
- HE 0.1MPabl - 453,995 456,717 457,418 458,169 458,470
,/’\:@
EA ® £ 0. 1MPasii 2,025,540 | 2,041,586 | 2,059,594 | 2,079,215 | 2,097,303
& .
B A & 2,479,535 | 2,498,303 | 2,517,012 | 2,537,384 | 2,555,773
B B 9,547 14,447 12,805 12,513 11,905
(= AR B B SR B )
s P NEE HADES IR | LHEE T | LEOET | FHBLE ek
7N 7L )5 A, e i
G S ERER A (mm) (MPa) (m) (m) | pEEs | FEmA | e




[ 7 2AR A2 —]

20194EF | 20204EF | 20214Ff - -
G | G | () | 20221 | 20231
. o HH S 4 4 4 4 4
FERA ARNA — G — -
R m 210,000 | 210,000 | 210,000 | 210,000 | 210,000
(T ARNA — DR 3 )
e S " TR = 77 THFEOETF| HEHEL el
e Y : -
TEO| R i PR ) | b |FEEan | vEEa | ks
[ e it i 7 e ]
- e e HEE T HOD s | TEos: | mmeen | FUHEEEEIRICR T D3 (T1)
7 D/]\NO. nx{ﬁ@% % uxvﬁ@{l[‘l% 7'3111’!5%%0)@’@ (Hf) ?ﬁ@ﬂ ?ﬁ@ﬂ 2021@5& 20225‘3};141 2023@5&
1 BPRERETG | [ L b X BT 162356 A 45.77 2021.3 2021.4 5,000




